Rittal - The System.

Faster - better - everywhere.

PyKoBOACTBO MO MOHTaXKy M 3KCrjiyatayum
Assembly and operating instructions
Notice de montage et d’empiloi

- ENCLOSURES POWER DISTRIBUTION CLIMATE CONTROL IT INFRASTRUCTURE SOFTWARE & SERVICES

FRIEDHELM LOH GROUP

Kopnyca n3 nutoro antomvHns GA

Cast aluminium enclosures GA

Boitiers GA en fonte d’aluminium

9101.210
9102.210
9104.210
9105.210

9106.210
9107.210
9108.210
9110.210

9111.210 9116.210
9112.210 9117.210
9113.210 9118.210
9114.210 9119.210

=i

RITTAL




Copep)xaHue
Contents
Sommaire
CTtpanvua
1. YKasaHus K JOKyMeHTauum 3
1.1 Mapkumpoeka CE 3
1.2 XpaHeHune goKyMeHTaLumm 3
1.3 Vicnonb3yemble CUMBOIbI 3
1.3 ConyTcTBytOLLIME OOKYMEHTbI 4
1.5 HopmaTvBHbIE yKadaHVs 3
2. Mepbl 6e30nacHoOCTU 4-6
3. OnucaHue ycTpoucTtBa 7-9
3.1 Ycnosusa NpuMeHeHrs 7-8
3.2 OnucaHne yHKUMM
1 COCTaBHbIX YacTen 9
3.3 KomnsekT nocrasku 9
4. MoHTaX n yctaHoBKa 10-15
4.1  TpeboBaHWsA K MECTY YCTaHOBKM 10
4.2 [1eMOHTa)K/MOHTaXK KPbILLIKM 11
4.3 YcTaHoBKa MOHTaXKHOW MaHenm 12
4.4 HacTteHHoe KpenneHne 13
4.5 YcTaHoBKa LWapHMPOB 14
4.6 3asemseHvie 1 BblpaBHMBaHNE
noTeHumanos 15
5. YcraHoBKa 16
6. 3asemneHue mn
BblpaBHUBaHME MNOTEHLMANOB 16
7. Okcnnyatauus 16
8. [poBepka n o6cnyxnBaHue 17
9. XpaHeHue 17
10. TexHuyecKue xapakTepucTuku/
cTeneHu 3awmTbl/
TennoBbie NoTepu 18-19
11. 3anacHble 4acTu 20
12. TMapaHTusA 20
13. Appeca cnyx6 cepBuca 20
2

@&

Page
Notes on documentation 3
CE labelling 3
Storing the documents 3
Symbols used 3
Other applicable documents 3
Normative references 3
Safety instructions 4-6
Device description 7-9
Proper usage 7-8
Function description
and components 9
Scope of delivery 9
Assembly and siting 10-15
Site requirements 10
Dismantling/fitting the cover 11
Fitting the mounting plate 12
Wall mounting 13
Fitting the hinges 14
Earthing and potential equalisation 15
Installation 16
Earthing and potential
equalisation 16
Operation 16
Inspection and maintenance 17
Storage 17
Technical specifications/
Degrees of protection/
Heat loss 18-19
Spare parts 20
Guarantee 20

Customer services addresses 20

1.1
1.2
1.3
1.4
1.5

3.1
3.2
3.3

4.1

o

o)
«Q

[}

Remarques relatives

a la documentation

Certification CE

Conservation des documents
Symboles utilisés

Autres documents applicables
Renvois a la norme

Consignes de sécurité
Description du boitier

Utilisation correcte du boitier
Description fonctionelle et éléments
Composition de la livraison
Montage et implantation
Exigences concernant le lieu
d’implantation 10
Démontage / montage du couvercle 11
Montage de la plague de montage 12

4 -
7-
7 -

GO O VOO WWWWwWwW

10-1

Fixation murale 13
Montage des charnieres 14
Mise a la terre et équipotentialité 15
Installation 16
Mise a la terre et

équipotentialité 16
Utilisation 16
Inspection et entretien 17
Stockage 17

Caractéristiques techniques /
Indices de protection /

Puissance dissipée 18-19
Pieces de rechange 20
Garantie 20
Coordonnées des services

aprés-vente 20

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA



PykoBOACTBO MO MOHTaXXy MpefHa3Ha4eHo
NS NNL, UIMEIOLLIMX COOTBETCTBYIOLLIYIO
KBaMUKaLUMIO A1t TOro, YTOGbI NPaBUIbHO
YKOMMEKTOBATL KOPMYC ANEKTPUHECKMMM,
SNEKTPOHHBIMM, MEXaHUYECKMU 1 NMHEeBMaTU-
YECKUMIW YCTPOWCTBaMM, YCTAaHOBUTb M CMOH-
TNpOoBaTh B TPEGYEMOM MECTE YCTaHOBKM, 1
KOPPEKTHO ero NMoaKIItoHMTs. PykoBOACTBO MO
aKCnyaTaumumn npepHasHa4qeHo ans o6enyxu-
BaloLLiero nepcoHana 1 KBanmuumpoBaHHbIX
creuvanvcToB A1t OGCY>KNBaHWS aNIEeKTPO-
TEXHUYECKUX I MEXAHNHYECKNX CUCTEM.

1.1 Mapkuposka CE
[eknapauysa o cootsetcTum EN 62 208
[OCTyNHa Ha canTe komnaHum Rittal.

1.2 XpaHeHune foKyMeHTauum

Mepbl 6€30MacHOCTY 1 BKaAbILL B AOKY-
MEHTaLMIO ABMSIOTCS YacTbto npoaykTa. OHM
[OMKHbI BbITh NepeaaHb! Nob30BaTENHO
obopynosaHus. OH OTBeYaeT 3a XpaHeHve
[OKYMEHTOB, 0becneymBas NX JOCTYMHOCTb B
cny4ae HeobxoaMMOCTU.

1.3 Ucnonb3yemble CMMBOJbI

Cobntogante cnenyroLme ykasaHnst no Mepam
6e30MacHOCTV 1 BCe Apyrie ykasaHus B
[aHHOM PYKOBO/CTBE:

OnacHocTb!
HenocpepactBeHHast onacHOCTb
AN 300POBbS U XXU3HM.

BHumaHwue!

Bo3mMo)xHasi onacHOCTb Anst
NPOAYKLUM U OKpYXKatoLuen
cpeabl.

1.4 ConyTcTBylOLWME AOKYMEHTbI

[ns onmncanHbIx 34eCb KOprycoB AOCTYMHO
PYKOBOACTBO MO MOHTaXKy 1 SKCMyTaumm Ha
www.rittal.ru. 3a ywep6, BO3HVKLLNN BCea-
CTBME HECOOMIOOEHVSA OAaHHOMO PYKOBOACTBA,
komnaHus Rittal OTBETCTBEHHOCTU HE HeCeT.
Takoke UMeoT eNCTBUE UHCTPYKLMM UCMOSb-
3YEMbIX KOMMAEKTYHOLLINX.

1.5 HopmaTtuBHble yKka3aHusi

Kopnyca n3 nutoro anomuHmng Rittal GA
COOTBETCTBYIOT TPEOOBaHMAM Pa3HOOOpas-
HbIX HOPMATUBHBIX LOKYMEHTOB, 6arogapsi
Yemy KOPnyc NoaxonuT 4S8 UCNONb30BaHMA
Ha pasHOOB6Pa3HbIX PbIHKax 1 06nacTsax npu-
MeHeHNs. AKTyarnbHbIn 0630p AN1A MPOAyKTa
MOXXHO HamT Ha www.rittal.ru.

1. YkasaHusi K fOKyMeHTaLmum
1. Notes on documentation
1. Remarques relatives a la documentation

G

The assembly instructions are aimed at all
persons who have an appropriate specialist
training to allow them to equip enclosures

to conform to standards with electrical,
electronic, mechanical or pneumatic operating
equipment, to place or install at the destina-
tion site and to connect ready to operate. The
operating instructions are for the operating
personnel and appropriately trained specialists
for electro-technical and mechanical mainte-
nance.

1.1 CE labelling

The declaration of conformity according to

EN 62 208 can be downloaded from the Rittal
homepage.

1.2 Storing the documents

The safety notes and the accompanying note
are part of the product. They must be given to
the plant operator, who is then responsible for
the storage of the documents so that they are
readily available when needed.

1.3 Symbols used
Please observe the following safety
instructions and other notes in this guide:

Danger!
Immediate danger to life
and limb.

Caution!
Potential threat to the product
and its environment.

1.4 Other applicable documents

These installation instructions and operating
instructions for the described enclosures can
be downloaded from www.rittal.com. We can-
not accept any liability for damage associated
with failure to observe these instructions. The
instructions for any accessories used also
apply.

1.5 Normative references

Because the Rittal cast aluminium enclosure
GA conforms to many technical regulations,
the enclosure is suitable for the widest-range
of markets and application areas. A current
overview for the product is available at
www.rittal.com.

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA

La notice de montage s’adresse a toutes les
personnes qui possédent les compétences
professionnelles correspondantes, pour équi-
per les armoires électriques avec du matériel
électrique, électronique, mécanique ou pneu-
matique dans le respect des normes, pour
les mettre en place ou les monter sur le lieu
d’exploitation et pour les raccorder pour leur
exploitation. La notice d’utilisation s’adresse
au personnel d’exploitation et au spécialiste
formé en conséquence pour la maintenance
électrotechnique et mécanique.

1.1 Certification CE

La déclaration de conformité selon la norme
EN 62 208 est disponible pour téléchargement
sur le site Internet de Rittal.

1.2 Conservation des documents

Les consignes de sécurité et la notice jointe
font partie du produit. Elles doivent étre
remises a I’exploitant de I'installation. Celui-ci
les conservera de maniére a ce qu’elles soient
disponibles en cas de besoin.

1.3 Symboles utilisés
Tenir compte des consignes de sécurité et
autres directives contenues dans cette notice :

Danger !
Risque de blessure grave,
voire mortelle.

Attention !
Danger éventuel pour le produit
et ’environnement.

1.4 Autres documents applicables

La présente notice de montage et d'utilisation
pour les bottiers décrits ici peut étre téléchar-
gée sur le site internet www.rittal.fr. Nous
déclinons toute responsabilité en cas de dom-
mages imputables a la non-observation des
instructions contenues dans ces documents.
Veuillez également tenir compte des instruc-
tions relatives aux accessoires utilisés.

1.5 Renvois a la norme

Le boitier GA en fonte d’aluminium

Rittal répond a de nombreuses normes
techniques qui permettent au coffret d’étre
homologué pour divers marchés et domaines
d’application. Un état actualisé est disponible
sur le site internet www.rittal.fr.



@®E& W E M E E®

2. Sicherheitshinweise 2. Veiligheidsvoorschriften 2. Advertencias de seguridad
2. Safety instructions 2. Sakerhetsinstruktioner 2. Turvallisuusohjeet

2. Consignes de sécurité 2. Avvertenze di sicurezza 2. Sikkerhedsanvisninger

e ®
Warnung vor der

SchlieBbewegung von Warnung vor sich

f d Die Anleitung ist zu Aufsteigen auf eine Installation durch Installation durch
mechanischen Teilen bewegenden mecha- = > h
einer Maschine/Ein- nischan Teilen lesen Flache ist verboten Elektro-Fachkraft Mechanik-Fachkraft
richtung

Bei der Entwicklung des Aluminiumguss-Gehéuses GA wurden bereits im Konstruktionsstadium sicherheitskritische Punkte Uber eine Risikobewertung
nach DIN EN ISO 12100 bewertet und vermieden. Da sich einige wenige Restrisiken nicht ausschlieBen lassen, sind folgende Hinweise zu beachten.

Die Gehause mussen wahrend Transport, Auf- und Ausbau gegen Umkippen gesichert werden. Bei einem Nichtbeachten der Sicherheitshinweise besteht
die Moglichkeit der Gefahr fir Gesundheit und Leben.

Warning against
closing movements
for mechanical parts
of a machine/device

Warning against
independently moving
parts

The instructions must Climbing on surfaces Installation by Installation by
be read is prohibited specialist electricians specialist mechanics

During the development of the cast aluminium enclosure GA, as part of the design study, a risk evaluation according to DIN EN ISO 12100 was conducted
to evaluate and prevent safety-critical items. Because a few residual risks cannot be precluded, the following notes must be observed.

The enclosure must be secured against tilting during transport, assembly and configuration. Danger to life and health in case of non-observance of the
safety instructions.

Danger dG a la

I Danger d0 a des Il est interdit de . '
fermeture des pieces s N . oA Installation par un Installation par un
i h ieces mécaniques La notice doit étre lue marcher sur toute . e N P o
mécaniques d’une rr)nobiles d surface électricien confirmé mécanicien confirmé

machine / installation

Lors du développement du boitier GA en fonte d’aluminium, les points critiques pour la sécurité ont déja été analysés et prévenus lors de la fabrication via
une analyse des risques selon la norme DIN EN ISO 12100. Les remarques suivantes sont a respecter car quelques risques résiduels ne peuvent pas étre
supprimés. Lors du transport, du montage et de I’équipement, les coffrets doivent étre sécurisés pour ne pas basculer. Il est possible que la santé et la vie
des personnes soient mises en danger en cas de non-respect des consignes de sécurité.

Waarschuwing voor

S::#ggﬁgrﬁg?ﬁe \é\/eavsésce?%v:r;ge\é%c; Lees de gebruiksaan- Het is verboden het Installatie door elektro- | Installatie door
onderdelen van een nischg onderdelen wijzing opperviak te betreden technisch personeel monteur

machine/voorziening

Bij de ontwikkeling van de gegoten aluminium behuizing GA ziin er al in de ontwerpfase veiligheidskritische punten vastgesteld en vermeden door middel
van een risico-evaluatie conform DIN EN ISO 12100. Omdat enkele resterende risico‘s niet kunnen worden uitgesloten, dienen de volgende instructies in
acht te worden genomen. De behuizing dient tijdens het transport, de montage en de configuratie te worden beveiligd tegen kantelen. Wanneer de veilig-
heidsinstructies niet in acht worden genomen, kan dit leiden tot een risico op letsel en overlijden.

Varning for

sténgningsrorelse pa Varning for rorliga Bruksanvisningen Forbjudet att sta pa Ska installeras av Ska installeras av
mekaniska delar i en mekaniska delar maste lasas maskinens ytor behorig elektriker behdrig montor
maskin/enhet

Vid utvecklingen av aluminiumladan GA har sakerhetskritiska punkter utvarderats och undvikits redan pé konstruktionsstadiet genom en riskbedémning
enligt DIN EN ISO 12100. Eftersom vissa kvarvarande risker inte kan undvikas helt ska foljande information observeras. Lddan maste sékras vid transport,
montage och installation s att den inte kan vélta. Om sékerhetsanvisningarna inte foljs kan det finnas risk for allvarliga skador eller dodsfall.

Prestare attenzione

alla chiusura delle Prestare attenzione o el L'installazione deve Linstallazione deve

h iche di I f ich L i - Divieto di salire sulla ita d ita d
parti meccaniche di alle parti meccaniche eggere le istruzioni superficie essere eseguita da un essere eseguita da un
una macchina o di un in movimento elettricista qualificato meccanico qualificato
dispositivo

Durante lo sviluppo delle cassette GA in fusione di alluminio, gia in fase di costruzione & stata eseguita una valutazione del rischio secondo la norma

DIN EN ISO 12100 volta a identificare gli aspetti critici legati alla sicurezza ed eliminare eventuali pericoli. Dal momento che non € possibile escludere altri
rischi, & necessario attenersi alle seguenti istruzioni. | contenitori devono essere fissati durante il trasporto e le operazioni di montaggio/allestimento per
evitare che si ribaltino. L'inosservanza delle avvertenze di sicurezza pud comportare gravi lesioni personali, anche mortali.

Atencién, movimiento

de cierre de compo- Atencion, compo- e . Instalacion a realizar Instalacion a realizar
O Leer el manual Prohibi ir P PO

nentes mecanicos nentes mecanicos en ines?ruec Gi 0?1 ega de unz sﬂggﬁsigig sea por un técnico por un técnico

en una maquina/ movimiento electricista cualificado mecanico cualificado

instalacion

Durante el desarrollo de las cajas de aluminio fundido GA ya se evaluaron y subsanaron los puntos criticos para la seguridad a través de una valoracion de
riesgo segun DIN EN ISO 12100. Puesto que algunos riesgos residuales no pueden evitarse, deben tenerse en cuenta las siguientes advertencias.

Las cajas deben asegurarse durante el transporte, el montaje y el equipamiento con el fin de evitar el vuelco. Ignorar las advertencias de seguridad puede
comportar riesgos para la salud y la vida de las personas.

Varoitus koneen/ . . . - Asennuksen saa suo- Asennuksen saa suo-
laitteen mekaanisten X]aéiggﬁig:r : \c/)lg;[sat a Lue kayttdohjeet ugILIJ ;Ltj paslle on rittaa vain sdhkoalan rittaa vain mekaniik-
osien sulkulikkeesta Y ammattilainen ka-alan ammattilainen

GA-alumiinivalukotelon kehityksessé on otettu jo suunnitteluvaiheessa huomioon turvallisuuden kannalta kriittiset pisteet DIN EN ISO 12100:n mukaisen ris-
kiarvioinnin perusteella, ja niité on véltetty. Koska joitakin ja&nndsriskeja ei voi valttéda, on noudatettava seuraavia ohjeita. Kotelo on kiinnitettava kuljetuksen
seké& asennuksen ja madrityksen aikana kaatumisen estamiseksi. Mikéli turvallisuusohjeita ei noudateta, saattaa aiheutua vaara terveydelle ja hengelle.

Advarsel mod
lukkebevaegelse af
mekaniske dele i en
maskine/indretning

Ved udviklingen af det stebte aluminiumboks (GA) blev der i konstruktionsfasen foretaget en risikovurdering af sikkerhedskritiske punkter jf.
DIN EN ISO 12100, som herefter blev undgéet. Det er ikke muligt at udelukke enkelte restrisici, hvorfor felgende anvisninger skal overholdes. Kabinetterne
skal vippesikres ved transport, opstilling og udbygning. Manglende overholdelse af sikkerhedsanvisningerne udger en sundhedsrisiko og livsfare.

Det er forbudt at
Klatre p& maskinens
overflader

Advarsel mod
uafhaengigt
bevaegelige dele

Skal installeres af Skal installeres af
uddannet elektriker uddannet mekaniker

Vejledningen skal
leeses

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA



® & @D E @ @ @ @&

2. Faisnéis sabhailteachta 2. Bezpec¢nostni pokyny 2. Ymoéeifeig aopaleiag
2. Wskazéwki dotyczace 2. NHcTpykumm 3a 6esonacHocT 2. Instructiuni de siguranta
bezpieczenstwa 2. Mepbl 6e3onacHocTn 2. Sigurnosne upute

Rabhadh: Gluaiseacht Rabhadh:

dunta comhphair- Comhphéirteanna Ni'mor an treoirleab- T4 cosc ar dhreapadh g{lﬂ%g?ﬁ%%i?&fggir g%%g?ﬁ%égtfﬂaerigﬁgoir
teanna meicniochta meicnidla har a léamh ar an dromchla : L : o
cailithe € a shuiteail céilithe é a shuiteail

@ mealisin/gléis gluaisteachta
Agus casail GA in alimanam munlaithe & forbairt, rinneadh measunu riosca chun pointi criticitla don tsdbhailteacht a mheas mar chuid den chéim tégala
de réir DIN EN ISO 12100 agus cuireadh cosc air. Toisc narbh fhéidir mionrioscai iarmharacha a chur as an direamh, ni mor na treoracha seo a leanas a
leanuint. Ni mér an chasail a dhaingnid agus i & hiompar, & céimeail agus & cumru, lena chinntit nach dtiontdidh si. Ta baol ann do shldinte agus beatha an
duine mura leantar na treoracha seo.

Uwaga na zamykajace
sie czesci mecha- Uwaga na ruchome
niczne maszyny lub czesci mechaniczne

Zakaz wchodzenia na Instalacja przez Instalacja przez

Przeczyta¢ instrukcje powierzchnie elektryka mechanika

urzadzenia

Krytyczne pod wzgledem bezpieczenstwa punkty projektu obudowy aluminiowej GA zostaty wyeliminowane juz w fazie konstruowania dzigki analizie
ryzyka wg normy DIN EN ISO 12100. Poniewaz nie mozna wykluczy¢ niektérych pozostatych zagrozen, nalezy przestrzegaé ponizszych wskazéwek.
Podczas transportu, montazu i konfiguracji obudowa musi by¢ zabezpieczona przed przewrdceniem. Nieprzestrzeganie wskazowek bezpieczeristwa moze
spowodowac niebezpieczenstwo dla zycia i zdrowia.

Odkaz na instrukce
Vystraha; Rozmackani | navodu k NeSlapat na povrh
pouziti/brozury

@ PFi vyvoji skfifiky GA z hlinikového odlitku byly jiz ve stadiu konstrukce na zakladé hodnoceni rizik podle DIN EN ISO 12100 hodnoceny a odvraceny bez-
pecnostné kritické body. ProtoZze neni mozno néktera minimalini zbytkova rizika vyloucit, je nutno respektovat nasledujici pokyny. Béhem prepravy, montaze
a konfigurace musi byt skiifky zajistény proti pfevraceni. Disledkem nerespektovani bezpenostnich pokynd mlize byt ohrozeni zdravi a Zivota.

Vystraha pred rizikem
Urazu ruky

Instalace vyzaduje Instalace odbornym
elektro odbornost mechanikem

MpenynpexaeHune

3a [B/XKEHNE OT MpepynpexaeHne MpoviereTe KaysaHeTo Bbpxy MoOHTaX BT Cce MOHTaXBT ce
3aTBapsiLLM ce 3a ABMKeLLW ce PLKOBOACTBOTO MOBbPXHOCTUTE € M3BBbPLLBA OT 13BBbPLLBA OT
MEXaHWYHN YacTu Ha MEXaHWU4HN YacTn 3abpaHeHo ENEeKTPOTEXHNK MeXaHNK

MalLnHa/060pyasaHe

[Mpy NPOEKTUPAHETO 1 PadpaboTBaAHETO Ha OTNATUA OT alyMUHUIA Kopnyc GA, ca OLEHEHN 1 N36erHaTn KPUTUHHUTE TOYKI MO OTHOLLIEHWE Ha
6e3onacHoOCTTa Ype3 oLeHka Ha prcka cbrnacHo DIN EN ISO 12100. Tbih kKaTo HAkom OCTaTbYHN PUCKOBE HE MoraT Aa ce uakJo4aT, Tpsibea aa ce
cnasBar ykadaHusita oT npovissoguTtens. Koprycute TpsioBa Aa ce OCUrypsiT CpeLLy NpeobpbliaHe Mo BPeMe Ha TPaHCTMOPTUPaHe, MOHTaX 1 AEMOHTAX.
[Mpn HecnasdeaHe Ha VHCTPYKLMNTE 3a 6e30MacHOCT ChLLECTBYBa NOTEHLMAIHA ONacHOCT 3a 3APaBeTo U XXMBOTA.

MpenynpexaeHve

[l npexaeHu
06 onacHocTu o6p %"ﬁ; C?_‘% C"‘I:'tl/? e MpounTats CTaHoBUTbCS YcTaHoBka cunamm YcTaHoBka cunamm
npw 3aKpbiBaHn LIBVDKY LS KOBOMGTEC Ha MoBEPXHOCTb cneunan1cToB no crneunanvcToB no
MEXaHNYECKNX YacTen Y Py 3anpeLlaeTcs SMEKTPUKE MexaHviKe

MaLLVHBI/YCTAHOBKI MexaHN4eCKnX Hacten

Mpn padpaboTke kopryca 13 NUToro amnoMuHms GA B xofe oLeHkm puckos corfl. DIN EN ISO 12100 yxxe Ha CTafumn KOHCTPYMPOBaHWS Bblnv OLEHEHb!
1 MUHUMU3MPOBaHBI (HaKTOPbI, BAMSIOLLE HA 6830MacHOCTb. Tak Kak HEKOTOPbIE OCTATOYHbIE PUCKU UCKITIOHNTE HE BO3MOXHO, CleflyeT NMPUHATL

BO BHVMaHWe crefytoLye ykadaHus. Bo Bpems TpaHCMOPTUPOBKY 1 MOHTaXKa Kopryca A0SMKHbI ObiTb 3aDUKCMPOBaHb! OT ONpoKuapiBaHms. Mpu
HecobMoAeH Mep 6e30MacHOCTN BO3MOXHA OMAacHOCTL A1 300POBbS U XKU3HU.

Hpoaléqﬂoinor]

TPV anod Tnv kivnon . . . . . . .
gesiuros | ooy | ATt e oe i omastte | amaceai
HIX HER pepn H v enmddvela NAEKTPOAOYO HNXAVIKO

uiag eykaraotaonc/
HNXavApaTog

Téo0 KATA TNV €EEAIEN GO0 Kal 0TO OTASIO KATAOKELNAC TOL TIEPIBARUATOC GA arnd XuTd AAOUUIVIO, aloAoynBnKav Kal arnopelxbnkav onueia Ttov BETouvy

o€ Kivbuvo TNV aohAAela pe TV epappoyn piag dladikaciag agloAdynong kivouvwy katd to DIN EN ISO 12100. Eneidr) oplopévol eAdxoTol kivduvol dev

UTTOPOULY Va ATIOKAEIOTOUV TEAEIWG, Ba TIPEMEL va TNPNBOVV Ol TTAPAKATW LTTOSEEELC. Ta TIEPIBARUATA TTPETEL va aodaAilovTal anod evOEXOUEVN AVATPOTIH

KATA TN PETAdOPA, TNV TOMOBETNON Kal TNV adaipeon. Eav ayvonBouv ol unodeifelq aopaieiag umdpxet kivduvog yia Tn (wry Kat TNV LyEia.

Avertizare cu privire la

miscarea de inchidere Avertisment cu privire Urcarea pe 0 Instalarea se va face Instalarea se va
a pieselor mecanice la piesele mecanice A se citi manualul suprafata este de un electrician face de un mecanic
ale unei masini/ale aflate in miscare interzisa calificat calificat

unui dispozitiv
La dezvoltarea carcaselor GA din aluminiu turnat au fost evaluate si prevenite punctele critice din punct de vedere al sigurantei, inca din faza de proiectare,
prin intermediul unei evaluari a riscurilor, conform DIN EN ISO 12100. Deoarece nu pot fi excluse unele riscuri reziduale, trebuie respectate urmatoarele
instructiuni. Carcasele trebuie sa fie asigurate impotriva caderii in timpul transportului, instaldrii si demontarii. La nerespectarea instructiunilor de siguranta,
exista posibilitatea periclitarii sanatatii si a vieii.

Upozorenje na ’ R Instalaciju smije prove- | Instalaciju smije prove-

uklopno kretanje Hgﬁé‘gﬁg&gigﬁfgju Proditaite Upute Zabranjeno je penjanje | sti samo ovlasteno sti samo ovlasteno

mehanickih dijelova okretuJ ) e up na povrsinu stru¢no osoblje za struéno osoblie za
stroja/uredaja P elektriCarske radove mehanicarske radove

Pri razvoju GA kucista od aluminijskog odljeva ve¢ su u fazi izvedbe procijenjene i izbjegnute sigurnosno osjetljive tocke na temelju procjene rizika sukladno
normi DIN EN ISO 12100. Bududi da nije moguce iskljuciti malobrojne preostale rizike, potrebno je pridrzavati se sliedecih uputa. Kucista se moraju prili-
kom transporta, montaze i demontaze osigurati od prevrtanja. U slu¢aju nepridrZzavanja sigurnosnih uputa moguca je opasnost po zdravije i Zivot.

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA 5



WOEWGEEE W

2. Biztonsagi tudnivalok 2. DroSibas prasibas 2. Instrucoes de seguranca
2. Saugos nurodymai 2. Varnostni napotki 2. Struzzjonijiet ta'
2. Ohutusteatis 2. Bezpeénostné pokyny prekawzjoni

%2’;{%?@2?%?256“ ok Mozgé mechanikai Az utasitast el kell A szerelést elektromos | A szerelést mechani-
ZArérmozodsara részekre torténd figyel- olvasni A fellletre lépni tilos szakembernek kell kus szakembernek kell
9 meztetés elvégeznie elvégeznie

torténd figyelmeztetés

A GA aluminiumdntvény haz fejlesztésekor a biztonsagtechnikailag kritikus pontokat mar a konstrukcié stadiumaban a DIN EN ISO 12100 szerinti kockaz-
atértékeléssel kiértékeltik, és ezeket elkerUltik. Mivel néhany fennmaradd kockdzat nem zérhato ki, a kdvetkezd tudnivaldkat kérjik figyelembe venni. A
hazakat szallitas, fel- és kiépités soran feldélés ellen biztositani kell. A biztonsagi tudnivaldk figyelmen kivil hagyasa esetén sérilés- és életveszély all fenn.
Ispéjimas dél masi-

nos / jrenginio mecha- | |spejimas dél judanciy
niniy daliy judéjimo, mechaniniy daliy
uzsidarymo metu

Projektuojant lieto aliuminio korpusa GA atlikus rizikos vertinima pagal DIN EN ISO 12100 jau konstravimo etape buvo jvertinta rizika, atsizvelgta j saugos
reikalavimus ir imtasi priemoniy pasalinti galimus pavojus. Kadangi kai kuriy liekamuyjy pavojy pasalinti negalima, reikia laikytis toliau pateikty nurodymy.
Transportuojant, statant ir montuojant korpusus reikia fiksuoti, kad neapvirsty. Nesilaikant saugos nurodymuy kyla pavojus sveikatai ir gyvybei.

Draudziama lipti ant
pavirSiaus

Turi jrengti

Skaityti instrukcija mechanikas

Turi jrengti elektrikas

Hoiatus masina/

” Hoiatus likuvate ’ ) . Kvalifitseeritud Kvalifitseeritud
(S)tzggrengurpzmaslaw?te mehhaaniliste osade hgggga kasutusju- Eénﬂzeﬁ);ﬂg astumine elektriku poolne mehhaaniku poolne
9 eest paigaldamine paigaldamine

mise eest

Valatud alumiiniumist korpust hinnati juba ehitusstaadiumis ohutuskriitiliste punktide suhtes DIN EN ISO 12100 kohase riskianaltiUsiga. Kuna méningaid
riske ei ole siiski voimalik valistada, tuleb jargida jargmisi juhiseid. Korpused peavad transportimise, kokkupaneku ja lahtivotmise ajal olema Umberkukku-
mise suhtes kindlustatud. Ohutusjuhiste jargimata jatmisel voib esineda oht tervisele ja elule.

Uzmanieties iekartas/ Uzmanieties no Aizlieats Kaot Uz UzstadiSanu drikst UzstadiSanu drikst
masinas mehanisko kustigam mehaniskam | Izlasiet instrukciju virsm%s P veikt tikai kvalificéts veikt tikai kvalificéts
dalu aizversanas laika dalam elektrikis mehanikis

DroSibas riski tika izvertéti un noversti jau GA sérijas lieta aluminija korpusa izstrades un konstruésanas posma, veicot risku analizi atbilstosi
DIN EN ISO 12100. Ta ka nav iespéjams izslegt dazus atlikuSos riskus, ludzu, nemiet véera talak minétas prasibas. TransportéSanas, montazas un
demontazas laika korpuss janodroSina pret apgasanos. Neieverojot drosibas prasibas, var tikt apdraudéta veseliba un dziviba.

Namestitev lahko izva- | Namestitev lahko

Opozorilo pred Opozorilo pred Vzpenjanje na o i i ~

zapiranjem mehanskih | premikajoCimi se Preberite navodila povrsino je prepove- 1ajo s?ml? USP?(.SObl 'ngf.ajo. sz;xmf() USPCL.

delov stroja/naprave mehanskimi deli dano jent strokovnjaxi za Sobjjeni Strokovnjaxi
elektrotehnicna dela za mehanicna dela

Pri razvijanju ohi§ja iz litega aluminija GA so bili ze v fazi izdelave ovrednoteni in odpravljeni varnostno kriti¢ni vidiki ocene tveganja v skladu s standardom
DIN EN ISO 12100. Nekaterih ostalih tveganj ni mogoce izkljuciti, zato je treba upostevati naslednje napotke. Med transportom, postavijanjem in razstavlja-
njem je treba ohiSja zavarovati tako, da se ne morejo prevrniti. Ce ne upostevate varnostnih napotkov, se lahko pojavi nevarnost za zdravije in zivljenje.

Davajte pozor na
zatvéaraci pohyb
mechanickych Castf
stroja/zariadenia

Pri vyvoji krytu GA z hlinikovej zliatiny boli uz v konstrukénom $tadiu vyhodnotené kritické body z hladiska bezpecnosti na zéklade postdenia rizika

v zmysle normy DIN EN ISO 12100, &im sa predislo ich vyskytu. Kedze nie je mozné vylucit vyskyt malého poctu zvySkovych rizik, je nutné dodrziavat
nasledovné pokyny. Kryty musia byt poCas prepravy, montaze a demontaze zabezpecené proti prevrateniu. V pripade nereSpektovania bezpecnostnych
pokynov méze dojst k ohrozeniu zdravia a zivota.

Cuidado quando as

InStalaciu smie InStaléciu smie
vykonavat len Speciali- | vykonavat len Speciali-
zovany elektrotechnik zovany mechanik

Davajte pozor na
pohyblivé mechanické | Preditajte si ndvod
Casti

Je zakdzané vystupo-
vat na plosinu

Cuidado com as A instalacéo deve ser A instalagdo deve ser

partes mecanicas de A ’ ~ E proibido subir paraa | feita por um técnico feita por um técnico

Pl artes mecanicas Ler as instrugdes - > . it h
uma maquina/insta- rpn Aveis G superficie eletricista especia- mecanico especia-
lagéo se fecham lizado lizado

Durante a fase de projeto da caixa em aluminio fundido GA, foi realizada uma avaliagdo dos riscos segundo a norma DIN EN ISO 12100 para analisar

e evitar aspetos criticos para a seguranga. Como néo € possivel descartar alguns riscos residuais, € necessario seguir as instrugdes abaixo. Fixar as
caixas durante o transporte, a montagem e a configuragao para que nao possam cair. Existe um potencial risco de vida ou de danos para a salude se as
instrucoes de seguranga ndo forem seguidas.

Twissija dwar I-ghelug
ta’ partijiet mekkanici
ta’ magna/taghmir
Fl-istadju tal-kostruzzjoni tal-izvilupp tal-gafas tal-aluminju, diga gew evalwati u evitati punti ta’ sigurta kriti¢i permezz ta’ valutazzjoni tar-riskju skont

DIN EN ISO 12100. Peress li din ma eskludietx Certi riskji residwi, I-istruzzjonijiet li gejjin ghandhom jigu osservati. Matul it-trasport, I-installazzjoni u I-iz-
muntar, wiehed ghandu jizgura li I-kejsing ma jagax. Jekk wiehed ma jsegwix dawn I-istruzzjonijiet ta’ sigurta jista’ jkun hemm riskju ghas-sahha u I-hajja
tal-bniedem.

Twissija dwar partijiet lIl-manwal ghandu Mhuwiex permess i Installazzjoni minn Installazzjoni minn
mekkanici li jiccagilqu jingara wiehed jirfes fuq zona elettricista kwalifikat/a mekkaniku kwalifikat/a

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA



®E E®® E M@ E @ E E® @ E
3. Geratebeschreibung 3. Descrizione del prodotto 3. Opis urzadzenia
3. Device description 3. Descripcidon del aparato 3. Popis zafrizeni
3. Description du boitier 3. Laitteen kuvaus 3. OnucaHune Ha o60pyaBaHeTO
3. Beschrijving van het apparaat 3. Komponentbeskrivelse
3. Aggregatbeskrivning 3. Cur sios ar an ngléas

®

® ©® @

®

® ® @ ©® 0

®

®

®

3.1 BestimmungsgemaBe Verwendung

Diese Rittal Produkte sind Leergeh&use fir Niederspannungs-Schaltgeratekombinationen mit einer Bemessungsspannung von héchstens

1000 V AC oder 1500 V DC und Mess-, Steuer- und Regelungstechnik im Innenraum. Fir besondere Anforderungen und flr Freiluftaufstellung
muss die Eignung im Zweifelsfall durch Rittal bestétigt werden. Die in der Bedienungsanleitung angegebenen Belastungsgrenzen sind einzuhalten.

3.1 Proper usage

These Rittal products are empty enclosures for low-voltage switchgear combinations with maximum rated voltage 1000 V AC or 1500 V DC,
and incorporate instrumentation and control systems. For special requirements and for outdoor installations, confirmation of suitability must be
obtained from Rittal in case of doubt. The load limits specified in the operating instructions must be observed.

3.1 Utilisation correcte du boitier

Ces produits Rittal sont des boitiers vides destinés a intégrer des disjoncteurs basse tension de max. 1000 V AC ou 1500 V DC et des équipe-
ments de contrdle et de régulation. Pour des applications spécifiques ou pour une implantation en extérieur, en cas de doute, faites vérifier leur
adéquation par Rittal. Les limites de charges indiquées dans la notice d'utilisation doivent étre respectées.

3.1 Voorgeschreven gebruik

Deze Rittal-producten zijn lege behuizingen voor laagspanningsschakelinrichtingen met een nominale spanning van maximaal 1000 V AC of
1500 V DC en meet-, besturings- of regeltechnische elementen voor gebruik binnenshuis. Voor bijzondere vereisten en gebruik in de open lucht
dient de geschiktheid bij twijfel door Rittal te worden bevestigd. De in de gebruiksaanwijzing aangegeven belastingsgrenzen dienen in acht te
worden genomen.

3.1 Andamalsenlig anvindning

Dessa Rittal-produkter &r tomma skap for lagspéanningsfordelningskombinationer med mérkspénning pa hdgst 1000 V AC eller 1500 V DC och
intern mat-, styr- och regleringsteknik. Vid sarskilda forutsattningar och vid uppstélining utomhus méste Rittal i tveksamma fall intyga produkter-
nas lamplighet. De belastningsgranser som anges i bruksanvisningen méaste observeras.

3.1 Uso conforme

Questi prodotti Rittal sono essenzialmente dei contenitori vuoti per I'installazione di apparecchiature assiemate di protezione e di manovra per
bassa tensione con una tensione nominale max. 1000 V AC o 1500 V DC, nonché di apparecchi di misurazione, comando e regolazione. Per
applicazioni speciali o per I'installazione out door, in caso di dubbi & necessaria la conferma dell’'idoneita all’'uso da parte di Rittal. Occorre inoltre
rispettare i limiti di carico specificati nel manuale d’uso.

3.1 Utilizacion conforme a la normativa

Estos productos Rittal son cajas vacias para conjuntos de aparamenta de baja tension con una tensién maxima de 1000 V c.a. 0 1500 V c.c. y
para la técnica de medicién, mando y regulacion en interiores. Para aplicaciones especiales y para la ubicacion en el exterior debe solicitarse la
conformidad de Rittal. Deben mantenerse los limites de carga indicados en las instrucciones de mando.

3.1 Maaraystenmukainen kaytté

Namé Rittal-tuotteet ovat tyhjié koteloita pienjannite-kytkentalaiteyhdistelmille, joiden mittausjénnite on enintdan 1 000 V AC tai 1 500 V DC ja
joiden sisélla on mittaus-, ohjaus- ja sdatotekniikkaa. Erityisia vaatimuksia varten ja asennettaessa ulkotiloihin soveltuminen on varmistettava
Rittalilta. Kayttdohjeissa mainittuja kuormitusrajoja on noudatettava.

3.1 Korrekt brug

Disse Rittal-produkter er tomme indkapslinger til kombinationer af lavspeendings-tavieanieeg med en masrkespaending pa maks. 1.000 V AC eller
1.500 V DC samt malings-, styrings- og reguleringsteknik til indenders brug. Ved seerlige anvendelseskrav og udenders opstilling skal egnetheden
i tvivistilfeelde bekraeftes af Rittal. Belastningsgreenserne i brugsvejledningen skal altid overholdes.

3.1 Uséid cheart

Casail fholamh le haghaidh lascthrealaimh iseal-voltais le voltais ratailte nios airde né is ionann le 1000 V AC né 1500 V DC agus ionstraimiocht
agus teicneolaiocht rialaithe i dtimpeallacht faoi dhion até sa tairgi Rittal seo. | gcas riachtanas speisialta agus suitedla lasmuigh, ni mér dul i dte-
agmhail le Rittal agus deimhnit a fhail uainn go bhfuil an tairge oirinach chuige sin. Ni mér na teorainneacha 16id sa lamhleabhar oibritichain

a chomhlionadh.

3.1 Uzycie zgodnie z przeznaczeniem

Opisywane tutaj produkty Rittal to puste obudowy do rozdzielnic i sterownic niskonapieciowych o napieciu znamionowym nieprzekraczajgcym
1000 V AC lub 1500 V DC, a takze do urzadzen pomiarowych sterujgcych i regulujgcych wewnatrz budynkéw. Przydatnosé do szczegdlinych
wymagan oraz do instalacji na wolnym powietrzu wymagaja potwierdzenia przez Rittal. Podane w instrukcji obstugi granice obcigzen musza byc
przestrzegane.

3.1 Radné pouzivani

Tyto vyrobky spole¢nosti Rittal jsou prazdné skriné pro rozvadéce nizkého napéti, jejichZ jmenovité napéti neprekracuje 1 000 V AC, nebo

1500 V DC a méici, fidici a reguladni techniku ve vnitfnich prostorach. V piipadé speciélnich poZadavk( a instalace ve venkovnim prostredi musf
spole¢nost Rittal pri pochybnostech potvrdit vhodnost takového pouziti. Pfi instalaci musi byt dodrzeny meze zatizeni uvedené v navodu.

3.1 Ynotpeb6a no npegHasHa4eHue

Tean npopykTv Ha Rittal npeacTasnseat npasHy Kopnycu 3a KOMOVHALMN OT KOMYTALWMOHHM YCTPONCTBA 32 HUCKO HarnpeXXeHne ¢ HOMUHaNHO
HanpexeHve 1o Maxkcmym 1000 V AC nnmn 1500 V DC, KakTo 1 3a KOHTPONHO-M3MepBaTenHa anapaTtypa pasrofioxkeHa B 3aKpUTO MOMELLIEHNE.
B cnyyait Ha cneumanHn N3nCKBaHWS 3a MOHTaXK Ha OTKPUTO, MOMSt KOHCyNTUpaliTe ce ¢ Rittal 3a MOTBbpXKAEHNE OTHOCHO MPUFOAHOCTTA Ha
npogaykTa. MNocoyeHnTe B pPbKOBOACTBOTO 3a eKCrioaraumus AOMyCTUMYM FpaHnLIM Ha HaTOBapBaHe TpsibBa [a ce cna3gart.

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA 7



W EE O E W G & E @
3. OnucaHue yctponcrea 3. Irenginio apraSymas 3. Descricao do aparelho
3. Mepypadrn cvokevwv 3. Seadme kirjeldus 3. Deskrizzjoni tal-apparat
3. Descrierea dispozitivului 3. lekartas apraksts
3. Opis uredaja 3. Opis naprave
3. A késziilék leirasa 3. Opis pristrojov

®

® ® @ ® 0

®

®

3.1 YcnoBusi npumeHeHus

[anHble npopykTsl Rittal aBnstoTCs myCcTeIMm KOpMycamim Anst HU3KOBOMBTHBIX KOMMIEKTHbIX YCTPOWCTB C HOMUHASTbHBIM HaMPshKEHUeM
makcumym 1000 B AC nnn 1500 B DC, a Takke ana 060pyaoBaHvs USMEPeHUs 1 ynpaBneHns Ans yCTaHOBKN BHYTPY NOMeLLEHMIA. [pun
Hanmymm ocobbix TPeBOBaHWIA, a Takxxe NPU HAPY>KHOWM YCTaHOBKE B CilyHae HalM4/s COMHEHUI HEOOX0AMMO NoNyYUTb NoaTBePXAeHMe Rittal.
Heobxoaymo cobntofate Aviana3oH Harpy3oK, ykadaHHbli B PyKOBOACTBE MO SKCrTyaTaLmm.

3.1 MpoPAenépevn xprion

Autd ta poidvra Rittal eival ddela eppdpla yia T TOTIOBETNON CLUVOUACUWY SIATAEEWV SIAKOTITWY XAUNANG TAONC e TACN PETENONG £WE KAl
1000 V AC 1} 1500 V DC, KaBwg Kal yia CUCTAIATA YETPNONG, EAEYXOU Kal pUBUIcEWY O E0WTEPIKOUE XWPOUG. A EISIKES AMAITHOEIG KAl YAl TNV
TOTIOBETNON OE EEWTEPIKOUC XWPOUC EVOEXOUEVWG Va XPelaoTel n emiBeRaiwon TG KataAnAdTnTag arnd tnv Rittal. Mpgmnet va TnpnBolv Ta dpla
HOPTIWV KAl KATATIOVACEWY TIOL QVadEPOVTAL OTIG 00NYIES XEIPIOOU.

3.1 Utilizarea conforma cu destinatia

Aceste produse Rittal sunt carcase goale pentru combinatii de dispozitive de comutare la joasa tensiune, cu o tensiune nominala de maxim

1000 V c.a. sau 1500 V c.c. si care inglobeaza tehnologii de masurare, control si reglare. Pentru cerinte speciale si pentru instalarea in aer liber,

in cazul in care aveti nelamuriri, trebuie sa fie confirmat caracterul adecvat impreuna cu firma Rittal. Trebuie respectate limitele de incarcare specifi-
cate In manualul de utilizare.

3.1 Predvidena uporaba

Ovi proizvodi tvrtke Rittal odnose se na prazna kucista za niskonaponske kombinacije sklopnih uredaja s nazivnim naponom od najvise

1000 V kod izmijeni¢nog napona ili 1500 V kod istosmjernog napona te mjernom, upravijatkom i regulacijskom tehnikom u unutraSnjem prostoru.
U slucaju dvojbi kod posebnih zahtjeva i vanjske montaze prikladnost mora potvrditi tvrtka Rittal. Obvezno je pridrzavanje granica opterecenja koje
su navedene u uputama za uporabu.

3.1 Rendeltetésszerii hasznalat

Ezek a Rittal termékek Ures hazak kisfeszUltségl kapcsoldberendezés-kombinacidk szamara, melyek névieges fesziltsége legfeliebb 1000 V AC
vagy 1500 V DG, illetve a mérés-, vezérlés- és szabalyozastechnika szamara, beltérben. Kilénleges kovetelmények és kuiltéri feldllitas esetén az
alkalmassagot kétség esetén a Rittal-lal kell jovahagyatni. A hasznalati utasitasban megadott terhelési hatarértékeket be kell tartani.

3.1 Naudojimas pagal paskirtj

Sie ,Rittal“ produktai yra tusti korpusai, skirti Zemos jtampos skirstomujuy jrenginiy kompleksams, kuriy vardiné jtampa ne didesné nei 1000 V
kintamosios sroves arba 1500 V nuolatinés srovés, bei matavimo, valdymo ir reguliavimo technikos montavimui patalpose. Esant specialiems
reikalavimams, taip pat norint montuoti lauke, jei kyla abejonés batina gauti ,Rittal” patvirtinima. Privaloma laikytis naudojimo instrukcijoje nurodyty
apkrovy riby.

3.1 Sihtotstarve

Nende Rittali toodete puhul on tegemist tlhjade korpustega, mis on mdeldud maanduspinge-lUlitusseadme kombinatsioonidele, mille nimipinge
on maksimaalselt 1000 V AC v6i 1500 V DC ning mille mdote-, juhtimis- ja reguleerimistehnika on siseruumis. Eriliste nGudmiste puhul ja vabas
ohus paigaldamiseks tuleb kahtluse puhul esmalt Rittaliga ndu pidada. Kasutusjuhendis nimetatud koormuspiiranguid tuleb jargida.

3.1 Paredzétais lietoSanas veids

Sie Rittal produkti ir tuksi korpusi zema sprieguma komutatoriem ar maksimalo spriegumu 1000 V mainstravas vai 1500 V fidzstravas, ka art
meériericém un vadibas, reguleSanas ieficem iekstelpas. Ja ir neskaidribas par pasam prasibam vai iespéjam uzstadit korpusu arpus telpam,
sazinieties ar Rittal, lai sanemtu apstiprinajumu. leverojiet lietoSanas instrukcija noraditos slodzes ierobezojumus.

3.1 Predvidena uporaba

Ti izdelki Rittal so prazna ohi§ja za kombinacije nizkonapetostnih stikalnih naprav z nazivno napetostjo najve¢ 1000 V pri izmeniénem toku ali
1500 V pri enosmernem toku ter merilno, krmilno in nadzorno tehnologijo v notranjih prostorih. V primeru dvoma pri posebnih zahtevah in name-
stitvi na prostem mora primernost potrditi podjetje Rittal. UpoStevati je treba omejitve obremenitve, ki so navedene v navodilih za uporabo.

3.1 Zamyslany ucel pouzitia

Pri tychto produktoch Rittal ide o prazdne kryty na kombinacie nizkonapatovych spinacich zariadeni s max. dimenzovanym napatim 1 000 V AC
alebo 1 500 V DC a technoldgiu merania a regulacie v interiéri. V pripade pochybnosti so zretelom na osobitné poziadavky a umiestnenie

v otvorenom priestranstve musi vhodnost postupu potvrdit spoloénost Rittal. Je nutné dodrZiavat hrani€né hodnoty zatazenia uvedené v navode
na obsluhu.

3.1 Utilizacao

Estes produtos Rittal sdo caixas vazias adequadas para combinacdes de componentes de distribuicao de baixa tensao com uma voltagem
nominal de no méximo 1000 V AC ou 1500 V DC e para tecnologia de medigao, controle e comando instalada em espacos internos. Para requi-
sitos especiais ou montagem em areas externas, em caso de duvida a Rittal deve confirmar a respectiva adequacao. E imprescindivel manter os
limites da capacidade de carga especificados no manual de instrugées.

3.1 Uzu mahsub

Dawn il-prodotti ta' Rittal huma kompartimenti vojta ghal assemblaggi ta' switchgear b'vultagg baxx b'vultagg stmat li ma jagbizx 1000 V AC jew
1500 V DC u taghmir ta' kejl u ta' strumentazzjoni fuq gewwa. F'kaz ta' htigijiet specjali u jekk ghandek dubju dwar |-installazzjoni fil-berah, din
ghandha tigi kkonfermata minn Rittal. II-limiti tat-taghbija specifikati fl-istruzzjonijiet ghandhom jigu osservati.

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA



3.2 Onucanue yHKLUN

1 COCTaBHbIX YacTen
Kopnyc 13 nutoro antoMuHmsa GA siBnsietcst
HaCTeHHbIM KOPMyCOM s pa3MeLLieHns
ANEKTPUHECKOTO, ANIEKTPOHHOIO, MEXaHnye-
CKOrrO NN MHEBMAaTUHECKOIO 060PYA0BaHNSA
11 MPUOOPOB B MPOMBILLIEHHON Cpeae BHYTPY
MOMELLEHNIA,

B 1 KOpMyC 13 IUTOro antoMUHNS

B 1 KpbllLka C 3aMopPHbIMX BUHTAMM

B 1 NakeT C NPUHaONEXXHOCTAMY (Copepxa-
Hue cm. 3.3)

B 1 Mepbl 6630MacHOCTU

Cne,u,yeT NnpoBepUTbL KOMMNIEKTHOCTb
NnocTaBKN.

3. OnucaHune ycrponcrea
3. Device description
3. Description du boitier

G

3.2 Function description and components
As wall mounting enclosure, the cast alu-
minium enclosure GA is suitable for accepting
electrical, electronic, mechanical or pneumatic
operating equipment and devices in the indoor
industrial area.

m 1 cast aluminium enclosure

m 1 cover with locking screws

m 1 accessories bag (content see 3.3)
m 1 safety instructions

Please check the scope of supply for
completeness.

3.3 KomnnekT noctaBku / 3.3 Scope of delivery / 3.3 Composition de la livraison

ApT. Ne
Model No.
Référence

& s
& M6 x 10
o=

3.2 Description fonctionnelle et éléments
Les bditiers GA en fonte d’aluminium sont
congus pour recevoir du matériel électrique,
électronique, mécanigue ou pneumatique et
des appareils en milieu industriel.

m 1 boitier en fonte d’aluminium

m 1 couvercle avec vis

m 1 sachet d’accessoires (contenu, voir 3.3)
m 1 notice de sécurité

Vérifier I'intégralité de la livraison.

9101.210 9102.210
5x 3 X
10 x 6 X
10 x 6 x

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA

9108.210  9114.210
9104.210 9110.210  9116.210
9105.210 9111.210  9117.210
9106.210 9112.210  9118.210
9107.210 9113.210  9119.210
1x 1x
4x -
2x -
- 4 x
- 4 x
- 4 x
- 4 x
- 4 x
9



4.1 Tpe60BaHUA K MECTY YCTaHOBKM

[Npy MOHTaXKE cnegyeT obpaTUTb BHUMAHUE,

4TO:

B TemnepaTypa OKpy>katoLLien cpefbl B MecTe
YCTaHOBKM He JomkHa ObiTh Bbile +80°C;

B TemrnepaTypa OKPY>KatoLLIEN CPebl B MECTE
YCTAHOBKW HE A0MmKHa ObITb Hke —40°C;

B OTHOCUTENbHASA BNXKHOCTb BO34yXa HE
npeBbiwaeT 50 % npu +40°C (Npu 6onee
HU3KVX Temneparypax Jonyckatotca 6onee
BbICOKME 3HAYeHWst OTHOCUTENBbHOM BaXK-
HOCTV BO3yxa).

Ecnn nmetotcs ocobble yCnoBus akcnnyaTta-
Lnn, TO HEOBXOaMMbI OCOBbIE AOrOBOPEHHO-
cTu Mexay Rittal n nons3oBatenem.

YKa3aHus No MOHTaXxy

m CobniofanTe ykasaHHble Ha cTpaHuLe 18
OaHHbIE MO Harpy3Kam.

B CobnopanTe BCe ykadaHHble MOMEHTbI
3aTsHKKU. [peBbILLEHVE NN HEAOCTVXKEHNE
yKa3aHHbIX B 3TOM PYKOBOACTBE MOMEHTOB
3aTSPKKM MOXKET MPUBECTU K MOBPEXAEHMIO
YCTAHOBOK WM K TSPKEMbBIM UM CMEepTENb-
HbIM PaHEHVSIM.

B [/136eranTe HeHY>KHbIX MPOEMOB B KOPMyCeE.
Karkapln HeakkypaTHO caeNaHHbIN 1 Hey-
NAOTHEHHbIA MPOEM MOXET BECTU K MOTEPE
CTeneHu 3alunThbl.

B [1py HACTEHHOM MOHTaXXE CrneflyeT obpa-
WaTb BHYMaHWE Ha Harpy304Hyro Cnocob-
HocTb. CrefyeT TakKe y4nTbIBaTh yKas3aHNs
B PYKOBOZCTBE MO MCMOSb3YEMbIX KOMIEK-
TYIOLLWIX.

4. MoHTaX n ycTtaHOBKa
4. Assembly and siting
4. Montage et implantation

G

4.1 Site requirements

Prior to assembly, ensure that

m the ambient temperature at the installation
site is not higher than +80°C.

m the ambient temperature at the installation
site is not lower than —40°C.

m the relative humidity does not exceed 50%
at +40°C (higher humidity levels are permit-
ted at lower temperatures).

If particular operating conditions apply, special
agreements must be made between Rittal and
the user.

Assembly instructions

m Observe the load capacities specified
on page 18.

m Observe all specified torque values. Over- or
undershooting the tensioning torques speci-
fied in these instructions can cause system
damage, severe injuries or even death.

B Avoid any unnecessary openings on the
enclosure. Any opening that is not made
and sealed carefully can reduce the degree
of protection.

m Ensure adequate carrying capacity for wall
mounting. The notes in the instructions for
the deployed system accessories must also
e observed.

4.1 Exigences concernant le lieu d’im-

plantation

Avant le montage, il faut veiller a ce que

| |[a température ambiante du lieu
d’implantation ne soit pas supérieure
a +80°C.

| |2 température ambiante du lieu
d’implantation ne soit pas inférieure
a-40°C.

m |'humidité relative de I'air ne dépasse pas
50% a +40°C (des taux d’humidité
supérieurs sont admissibles pour des
températures plus basses).

Des accords particuliers doivent étre signés
entre Rittal et I'utilisateur en cas de conditions
d’exploitation particulieres.

Instructions relatives au montage

m Veuillez respecter les charges maximales
admissibles prescrites a la page 18.

B Respectez les couples de serrage prescrits.
Le non-respect des couples de serrage
prescrits dans cette notice peut occasion-
ner des dommages a I'installation ou des
blessures graves voire mortelles.

m Evitez les ouvertures non nécessaires sur
le boftier. Toute ouverture qui n’est pas
soigneusement étanchéifiée peut réduire
I'indice de protection.

m Une capacité de charge suffisante doit étre
assurée en cas de montage mural.

Les remarques de la notice des accessoires
utilisés doivent également étre respectées.

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA



)

pz2 &

4. MoHTaX n ycTtaHoOBKa
4. Assembly and siting
4. Montage et implantation

4.2 flemoHTa)x/MOHTaX Kpbiwkwy / 4.2 Dismantling/fitting the cover / 4.2 Démontage / montage du couvercle

1]

9101.210
9102.210
9104.210
9105.210
9106.210
9107.210
9108.210
9110.210
9111.210
9112.210
9113.210
9114.210
9116.210
9117.210
9118.210
9119.210

(2]
M4 x 18
M4 x 18
M4 x 24
M4 x 24
M4 x 24
M4 x 24
M6 x 30
M6 x 40
M6 x 30
M6 x 30
M6 x 30
M6 x 30
M6 x 30
M6 x 30
M6 x 30
M6 x 30

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA

Mp (Hw)

1,56+05

2 +1



)

PH2 &

4. MoHTaX n ycTtaHOBKa
4. Assembly and siting
4. Montage et implantation

4.3 YctaHOoBKa MOHTaXkHow naHenu / 4.3 Fitting the mounting plate / 4.3 Montage de la plaque de montage

(1]

9105.210
9108.210
9110.210
9112.210
9113.210
9114.210
9116.210
9117.210
9118.210
9119.210

2]

9105.700
9108.700
9110.700
9112.700
91183.700
9114.700
9116.700
9117.700
9118.700
9118.700

(3] Mp (Hwm)
M4 x 6 1,5+0,5
M6 x 10
M6 x 10
M6 x 10
M6 x 10
M6 x 10 2+1
M6 x 10
M6 x 10
M6 x 10
M6 x 10

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA



=)@l | |SW5 SW10

pz2 & O o

4. MoHTaX n ycTtaHoOBKa
4. Assembly and siting
4. Montage et implantation

4.4 HacTteHHoe KpenneHue / 4.4 Wall mounting / 4.4 Fixation murale

M6 x 25

M6 x 30

1590.000
1594.000

KomnnekT noctaBku GA 9108.210, 9110.210, 9111.210, 9112.210,
Scope of delivery GA 9113.210, 9114.210, 9116.210, 9117.210,
Composition de la livraison GA 9118.210, 9119.210

. ,&@
R

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA

9108. - 9114.210

9116. - 9119.210



- = ®®®
64,2 PH2 &

: | 4. MonTax u yCTaHOBKaA
4. Assembly and siting
4. Montage et implantation

4.5 YcraHoBKa wapHupoB / 4.5 Fitting the hinges / 4.5 Montage des charniéres

M4 x 10
Mp =1,5+ 0,5 Hm

ApT. Ne
Model No. 9123.000
Référence
2 X -
4 x M4 x 10
M4 x 12
Mp =1,5+0,5Hm
4 x M4 x 12
8 x A4
8 x g4

14 PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA



—— @D & &
PH2 &

1 4. MoHTaXx u ycTaHOBKa
4. Assembly and siting
4. Montage et implantation

4.6 3azemneHune v BbipaBHUBaHWe noteHuunanos / 4.6 Earting and potential equalisation / 4.6 Mise a la terre et équipotentialité

M4 x6/M6 x 10
Mp=15+05Hu/Mp=2+1Hm

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA 15



5. YcTtaHoOBKa
5. Installation
5. Installation

Ecnun nmeetcsi BO3MOXXHOCTb BO3HVKHOBEHIIS
BbICOKOIO AaBNeHNs BHYTPU Kopryca, TO 3TO

MOXKET MPUBECTU K MONOMKE YacTen Kopnyca.

Bo nabexaHie ConpsiKeHHbIX C 3TUM OMnac-
HOCTeI?l, nonb3oBartesb OO0MKeH NpeanpuHATL
COOTBETCTBYIOLLME MEPbI 6E30MACHOCTY.

KOHCTPYKTUBHO HE MPEQyCMOTPEHO BbipaB-
HMBaHWe NOTEHLMaNoB Mexxay KpblLLIKOI?I n
KOPIMYCOM.

BblpaBH/BaHe NoTeHUWaNoB MeXay KpbILL-
KOV 1 KOPMYCOM PeannayeTcs nyTem UCrosb-
30BaHNsA kKabensi 3a3eMneHns.

Bce coegmHeHnst OmKHbl 6bITb CMOHTUPO-
BaHbl B COOTBETCTBUN C PYKOBOACTBOM MO
MOHTaXXY.

7. AkcnnyaTtauus
7. Operation
7. Utilisation

B |/136eranTe OTKPbITUSA KPbILLKK B TEHEHWE
[ONrOro BPEMEHM, Tak Kak HaxofsLLecs B
BO3ayXe Mblfb, BNAXXHOCTb UMW arpeccuBs-
Hble BELLeCTBa MOMyT MoMnacTb B KOPMYyC.

m [locne paboT Ha Kopryce NpoBEPLTE, YTO
KpbILLKa MPaBUIbHO 3aKpbITa.

G

If there is the possibility of high pressures
developing within the enclosure, the enclosure
parts could burst. To counteract all associated
dangers, the user must adopt appropriate
safety measures.

6. 3asemneHne 1 BbipaBHUBaHNE NMOTEHLUANOB
6. Earthing and potential equalisation
6. Mise a la terre et équipotentialité

CD

A physical potential equalisation for the cover
and enclosure is not present. A potential
equalisation for cover and enclosure is estab-
lished by using an earth cable.

All connections must be assembled in accord-
ance with the assembly instructions.

&

| To prevent dust, humidity and air con-
taminated with pollutants from entering the
enclosure, avoid leaving the cover open for
an unnecessarily long time.

m After working on the enclosure, check that
the cover is closed properly.

Il est possible que des parties du boitier
éclatent si des pressions élevées peuvent

se développer au sein du boitier. L utilisateur
doit prendre les mesures de sécurité qui
s’imposent pour contrecarrer les risques qui y
sont liés.

L’équipotentialité entre le corps du coffret
et son couvercle ne s’effectue pas mécanique-
ment. Il faut poser une tresse de masse.

Toutes les liaisons doivent étre montées
conformément & la notice de montage.

m Evitez I'ouverture prolongée et inutile du
couvercle, car de la poussiére, de I'humidité
ou de I'air chargé en polluants peut pénétrer
dans le baitier.

m Apres les travaux sur le bottier, vérifiez si le
couvercle est correctement fermé.

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA



8. NMpoBepka n o6cnyXnBaHue
8. Inspection and maintenance

Obcny>xmBaHve SOMKHO MPOBOAUTLCS PEry-
NISIPHO B 3aBVICUMOCTM OT YCNOBWIA NpYMEHe-
HWS 1 OKpPY>KatoLLIE cpefpl, MAHUMYM OfH
pas B rof 1 COOTBETCTBYIOLLMM 06Pa30M
[OKYMEHTNPOBATLCS.

Bup 1 o6bem nposognMbIx paboT:
® [1py UICNONBb30BaHU LLIAPHUPOB OHM

NPOBEPSAOTCA Ha MOABVXHOCTb U NMPON3BO-

OUTCH UX CMadKa MOAXOAALLMM CMa304HbIM

MaTepuanom, He Copgep XaLLM Bodpl.

B Bce KOMMOHEHTbI 1 MOBEPXHOCTU 0bcneny-

FOTCSA Ha MPEeOMET BHELLHNX MOBPEXAEHNN.

B YNOTHEHNS B Cydae NOBPEXAEHWA B
MeCTax KOHTaKTa HEO6XOAMMO MOSIHOCTHIO
3aMEHUTb.

® Kopnyc JOMOMHUTENBHO NPOBEPSETCS Ha

Hanm4ve CneaoB KOPPO3UN/MOBPEXKAEHNS

JTAKOKPACOYHOro MoKpbITUS. BosHukaroLme

NOBPEXIEHVS YCTPAHSKOTCS CRefyoLLM

obpasom:

— Hebonblume noBpexaeHns, 3atparu-
BatoLLMe MLLb YaCTb MOBEPXHOCTU
(HanpuMep, uapanmHbl): MOBEPXHOCTb Ha
NMOBPEXAEHHOM YHacTKe criedyeT Nerko
OTMONMPOBAThL Y YAANUTL BCE CPeabl KOp-
po3un 1 3arpsidHeHKs. B 3aBrcMMocTm
OT NOBPEXAEHNIA HaHeCTW Kpacky Rittal ¢
MOMOLLbIO KpacsiLLero KapaHaatla, K1cTu
1 6aINoH4YMKa C KpacKow (anstepHa-
TrBa: akpunosas kpacka 2K-PUR).

— 3HaumTENbHbIE MOBPEXAEHNS: PAaBHO-
MEPHO 3a4UCTUTb MOBEPXHOCTb 1 MPO-
TepeTb 6EH3MHOM; 3aTeM NepekpacuTb
NMOBEPXHOCTb Kpackon Rittal (anstepHa-
TMBa: akpunosas kpacka 2K-PUR).

9. XpaHeHue
9. Storage
9. Stockage

[Mpwn xpaHeHnn kopnyca cnegyeT obpallaTb

BHVIMaHWe, YTO

B TemnepaTypa OKpy>katoLLien cpebl He
[omkHa 6bITb 6osbLue +80°C.

B TemnepaTypa OKpy>XatoLLen cpeabl He
OOIKHa 6bITb Hke —40°C.

B OTHOCUTESNbHAs BNaXKHOCTb BO3yXa He
npeBbiwaeT 50 % npu +40°C (Npu 6onee
HM3KWX TemMmepaTypax JornyckaroTcs 6onee
BbICOKME 3HAYEeHWst OTHOCUTENBHOM BaXK-
HOCTV BO3yxa).

8. Inspection et entretien

G

Maintenance must be performed at regular
intervals depending on use and ambient
conditions, at least once annually and docu-
mented accordingly.

Nature and extent of the work to be

performed:

m The hinges are checked for ease of move-
ment and sprayed with a suitable, water-free
lubricant.

m All components and surfaces are examined
for external damage.

m Gaskets in the contact edge area must be
replaced completely if damaged.

m The enclosure is also inspected for traces
of corrosion/paint damage. Any damage is
repaired as follows:

— Damage to small areas that affect only a
part of the surface (e.g. scratches): Lightly
sand off the surface at the damaged place
and remove all traces of corrosion as well
as all contamination. Depending on the
degree of damage, apply the Rittal touch-
up paint either with a paint stick, a brush
or a spray paint can (alternative: 2K-PUR
acrylic paint).

— Large area damage: Sand off the surface
uniformly and clean with white spirit; then
paint over the entire surface with Rittal
touch-up paint (alternative: 2K-PUR acrylic
paint).

&

When storing the enclosure, ensure that

m the ambient temperature is not higher than
+80°C.

m the ambient temperature is not lower than
-40°C.

m the relative humidty does not exceed 50% at
+40°C (higher humidity levels are permitted
at lower temperatures).

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA

L’entretien doit étre réalisé régulierement
en fonction des conditions d’exploitation et
ambiantes, au minimum une fois par an, et
consigné en conséguence.

Type et ampleur des travaux a réaliser :

m En cas d’utilisation de charniéres, leur
mobilité doit étre vérifiée et elles doivent étre
vaporisées avec un lubrifiant sans eau.

| Tous les composants et toutes les surfaces
doivent étre examinés afin de vérifier qu'il
n'y a pas de dommages externes.

B | es joints d’étanchéité doivent étre rempla-
cés dans leur totalité en cas de dommages
au niveau des zones d’arétes d’étanchéité.

m |e boitier doit de plus étre examiné pour
vérifier qu'il n'y a pas de traces de corrosion /
de détéroriations de la peinture.

Les détériorations éventuelles doivent étre

réparées de la maniere suivante :

— Dommages de petite superficie qui ne
concernent qu’une partie de la surface
(p. ex. rayures) : poncer légerement la
surface a I'endroit endommagé et oter
toutes les traces de corrosion et de saleté.
Selon la taille des dommages, appliquer
la peinture de retouche Rittal soit avec un
crayon pour retouches, un pinceau ou une
bombe de peinture (ou aussi avec de la
peinture acrylique 2K-PUR).

— Dommages de grande superficie : poncer
uniformément la surface et la nettoyer
avec du white-spirit ; appliquer ensuite la
peinture de retouche Rittal sur I'ensemble
de la surface (ou avec de la peinture
acrylique 2K-PUR).

Pour le stockage du bditier, il faut veiller a ce

que

B |a température ambiante ne soit pas supé-
rieure a +80°C.

H |a température ambiante ne soit pas infé-
rieure a —40°C.

| 'humidité relative de I'air ne dépasse pas
50% a +40°C (des taux d’humidité supé-
rieurs sont admissibles pour des tempéra-
tures plus basses).



10. TexHN4YeCKne xapakTepUCTUKU/CTENEHN 3aLmTbl
10. Technical specifications/Degrees of protection
10. Caractéristiques techniques / Indices de protection

WcnonHeHne MoHTa)xHON

Pasmepbl Harpy3ka
Dimensions E ti I'IaHeIWIt_ lat Load DCTeHeH;: 3a|.:|,v|1't|_:|
Dimensions 06 e rionfmonnHnoipiate Charge admissible SEiEE G (ST
Apr. Ne (M) 'beM | Caractéristiques de la plaque H) Indice de protection
Model No. Voume de montage
Reéférence | liypusa = Beicora Mmy6una n Tonuwuna
wid | Heght | Dept (AR Thickness | e Momewetamer
Largeur Hauteur = Profondeur Référenc e' Epaisseur Total y Plaque de ?n EHTERD
®) H) m (M) q 9

9101.210 58 64 35 0,13 - - 31,3

9102.210 98 64 35 0,22 - - 31,9

9104.210 75 80 57 0,35 - - 32,6

9105.210 125 80 57 0,58 9105.700 1,5 33,8

9106.210 175 80 57 0,81 - - 34,7

9107.210 250 80 57 1,15 - - 36,5

9108.210 122 120 81 1,19 9108.700 1,6 38,2

9110.210 220 120 91 2,40 9110.700 1,5 43,3

makc. 30 66 8

9111.210 360 120 81 3,50 - - 50,0

9112.210 160 160 91 2,33 9112.700 1,5 44,5

9113.210 260 160 91 3,79 9113.700 1,5 49,5

9114.210 360 160 91 5,24 9114.700 1,5 55,3

9116.210 202 232 111 5,20 9116.700 1,5 54,5

9117.210 280 232 111 7,21 9117.700 1,5 59,1

9118.210 330 230 111 8,42 9118.700 1,5 65,1

9119.210 330 230 181 13,74 9118.700 1,5 77,2

1) Comn. DIN EN 60529 / According to DIN EN 60529 / Selon la norme DIN EN 60529
2) Corn. M3K 62262 / According to IEC 62262 / Selon la norme CEl 62262

18 PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA



10. TennoBble noTepu
10. Heat loss
10. Puissance dissipée

ApT. Ne

Batt/Watt/Watt (B7)

Retéronce (Delta T = 20 K)

9101.210 1 ] ;

9102.210 2 5 ;

9104.210 2 5 5
9105.210 4 3 ,

9106.210 6 4 3
9107.210 7 5 .,
9108.210 7 5 .
9110.210 11 9 .

9111.210 15 13 .
9112.210 10 9 .

9113.210 14 13 10
9114.210 20 17 13
9116.210 18 15 15
9117.210 23 0 .
9118.210 25 o .
9119.210 33 o9 9

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA



11. Spare parts

AKTyanbHbIN 0630P MOXKHO HamTN Ha
www.rittal.ru.

12. MapaHTua
12. Guarantee
12. Garantie

LencTBytOT YCNoBUSA Npodakm 1 OOCTaBKM,
YTBEP>KAEHHbIE COOTBETCTBYIOLLMMM COBITO-
BbIMW 1 JoHepHUMU NpeanpuaTuamm Rittal.

LLiTta6-kBapTupa NepmaHus
Headquarters Germany
Siege en Allemagne
RITTAL GmbH & Co. KG

Auf dem Stltzelberg
D-35745 Herborn

Phone +49(0)2772 505-1855
Fax +49(0)2772 505-1850
E-mail: service@rittal.de

Cepsuc-xa6 CLUA

Service HUB USA

Plateforme de service aux Etats-Unis
RITTAL Corporation

801 State Route 55 Dock 25

Urbana, OH 43078

Phone +1 800 477 4000, option 3
E-mail: service@rittal.us
www.rittal-corp.com

20

11. 3anacHble 4yacTu

11. Piéces de rechange

G

A current overview is available at
www.rittal.com.

G,

The conditions named in the sales and delivery
conditions of the associated Rittal agents and
subsidiaries apply.

13. Agpeca cny>x6 cepBuca
13. Customer services addresses
13. Coordonnées des services aprés-vente

CepBuc-xa6 bpasunusa

Service HUB Brazil

Plateforme de service au Brésil
RITTAL Sistemas Eletromecanicos Ltda.
Av. Candido Portinari, 1174

Vila Jaguara

05114-001 S&o Paulo - SP

Phone +55 (11) 3622 2361

Fax +55 (11) 3622 2399

E-mail: service@rittal.com.br

CepBuc-xa6 Kurtamn

Service HUB China

Plateforme de service en Chine

RITTAL Electro-Mechanical Technology Co. Ltd.
No. 1658, Minyi Road

Songjiang District

Shanghai, 201612

Phone +86 21 5115 7799-213

Fax +86 21 5115 7788

E-mail: service@rittal.cn

Un état actualisé est disponible sur le site
internet www.rittal.fr.

Les conditions générales de vente des repré-
sentations et filiales Rittal sont contractuelles.

CepBuc-xab Nugusa

Service HUB India
Plateforme de service en Inde
RITTAL India Pvt. Ltd.

Nos. 23 & 24, KIADB

Industrial Area Veerapura
Doddaballapur-561 203
Bengaluru District

Phone +91 (80) 22890792

Fax +91 (80) 7623 343

E-mail: service@rittal-india.com

PykoBoacTso no MoHTaxky GA/GA assembly instructions/Notice de montage GA



Rittal - The System.

Faster - better - everywhere.

m Kopnyca

B JneKTpopacnpeneneHmne
B KOHTPOSIb MUKPOK/MMaTa
B [T-nHpacTpyKTypa

m [10 v cepBuUC

30ecbk Bbl MOXETE HAMTN KOHTaKTHYHO
MHopmaumo koMmnaHun Rittal Bo Bcem Muype.

=] o [m]
[=]

www.rittal.com/contact

06.2016/3367 12/RU-0000-00000506REV00

- ENCLOSURES POWER DISTRIBUTION )  CLIMATE CONTROL IT INFRASTRUCTURE SOFTWARE&SERVICES RITML -

FRIEDHELM LOH GROUP -....




